
237



SOLAR POWER JUNCTION BOX

APPLICATION EXAMPLE

Product by Spectra Quest Lab. (Japan)OUTDOOR WiFi SPOT

POWER SWITCHBOARD BOX

Product by Kansai Denki (Japan)

238



Product by eSOL (Japan)
Environmental Data Measurement and Controller Unit

Product by DATA TECHNOLOGY (Japan)
"SenSu" COMMUNICATION UNIT with SENSOR

Product by CM Engineering (Japan)
NETWORK SENSOR SYSTEM for AGRICULTURE

Product by CM Engineering (Japan)
WILDLIFE DAMAGE MONITORING SYSTEM

Product by Nishimu Electronics Industries (Japan)
IOT SENSOR DATA LOGGER for AGRICULTURE

Rice Field

Farm Field

Weather

920MHz

Communication BOX

Wireless BOX

Visualization

Sensor Terminal Data Collection 3G Network Cloud System User Terminal



POWER SAVER for 
AIR CONDITIONING

Product by Synapes (Japan)

Product by EXEN (Japan)
VALVE CONTROLLER

Product by Showa Denki (Japan)
BUILDING SURVEILLANCE UNIT

Product by KRONE CORPORATION (Japan)
DIGITAL PRESSURE GAUGE

Product by Fieldpro (Japan)ANEMOMETER

Product by GeotechService (Japan)
GROUND EXTENSOMETER

Product by ACE PROMOTION (Japan)
MONITORING CAMERA

WATER GAUGE

RADIATION MONITOR

Product by Fieldpro (Japan)

240



243

※

Components
No. Part name Pcs Material Color / Finish

1

2

3

4

5

6

6

3

4 4

4

1
2

BCPK SERIES IP65 POLYCARBONATE PLASTIC BOX with LOCK

Technical Data



244

W

D

H

Accessories (Optional parts)

Product no. / Dimensions

Product no. W D H
Weight (g)

S T
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□
□

Color Type
Color code Cover color / Material Base color / Material

S
TNEW



247

Product no. W D H
Available range Bottom hole pitch

w d h a c

W

D
H

w

d

h

a

c A

Roof

A view
BCPK

A view

Lock

4-Boss for M4 tapping screw

4-M5 insert-nut or M4 mounting-hole
with or without nut depending on the model.

※See page 248 for insert nut use for each model.

W

Dcd

Roof

A view
BCPK

A view

Lock

A

H

a

w

h

 



248

Product no. W D H
Available range Bottom hole pitch

Insert nut
w d h a c

          
          

          
          

SURVEILLANCE VIDEO DATA CLOUD ROUTER
Product by LIVELOCK TECHNOLOGIES (Japan)

APPLICATION EXAMPLE



249

cd

Lock

W

D

Roof

H

A

h

a

w

4-M5 insert nut

A view
BCPK

A view

Attention when locking the latch

1. Close latches on both ends first.

2. Close center latch next.

※ Closing the center latch first may create a non-watertight seal.

Center latch must be closed last!

Product no. W D H
Available range Bottom hole pitch

w d h a c



250

Part name Pcs Material Color / Finish

58

25

2

10

7.85

15.2

37.2

W

Dcd

Roof

Lock

A

A view
BCPK

A view

H h

a

w 4-M6 insert nut

Attention when locking the latch

1. Close latches on both ends first.

2. Close center latch next.

※ Closing the center latch first may create a non-watertight seal.

Center latch must be closed last!

Included stainless steel mounting brackets for 506018, 506025, 507018, 507025, 608018 and 608028

Product no. W D H
Available range Bottom hole pitch

w d h a c



251

Product no. / Dimensions
Product no. Suitable box L W

□
□
□
□
□
□
□
□
□
□
□
□
□

W

L5.5

8

6.5 L

55
8.

4

Product no. / Dimensions

Product no. Suitable box L

□

Color Type
Color code Material Color / Finish Suitable series

S

BRF SERIES OUTDOOR ROOF

BRF dimensions

Accessories (Optional parts)



252

65
9.

9

7.3 L

Product no. / Dimensions

Product no. Suitable box L

Product no. / Dimensions
Product no. Material Color Sales unit

Suitable Box
Suitable box Required

BCC-1 DUST PROTECTION CAP

Accessories (Optional parts)



253

BMP 2020Z only.
6

bD

6W

1.
6

1.
6

D b

W

a 8 8

W

a

D b

1.6

BMP 6080Z only.

Components
Part name Material Finish

Product no. / Dimensions
Product no. W D a b Suitable box Weight (g)

 99

 SERIES STEEL MOUNTING PLATE

 

Accessories (Optional parts)



254

 

t

c

D b

W

a

c

BMP 1515P only.

c

t
D b

t

b

W

D

11
.8

6

W 50

a

bD

W

t

BMP 1520P only.

Components
Part name Material Color

Product no. / Dimensions
Product no. W D a b t Suitable box Weight (g)

 99

 SERIES PLASTIC MOUNTING PLATE

Accessories (Optional parts)



TAKACHI ELECTRONICS ENCLOSURE CO., LTD.
3-21-16 Higashi-ryoke, Kawaguchi-shi, Saitama, 332-0003 JAPAN 
Tel. +81-48-222-5409 / Fax. +81-48-222-7652

■ Affected models

■ Changes : Underside shape/construction

Current shape New shape

■ Purpose : For the reinforcement and strengthening of small-sized plastic mounting plate(s).

■ Effective date : Once present stock has run out.
■ Note : There will be no changes to product number, color, or pricing.

Status

November 11, 2019

Notice
BMP-P series Plastic Mounting Plate

Changes to Underside (bottom) Shape

BMP1217P

Product Number
BMP0811P
BMP0818P
BMP1126P
BMP1212P

Pending (est. 2nd Quarter 2020)
Pending (est. 2nd Quarter 2020)
Pending (est. 3rd Quarter 2020)
Pending (est. 2nd Quarter 2020)

Changed



255

6 88W

bD

D b

BMP 2020W only.
6    

a

W

a

W

D b

BMP 6080W only.

15

15

15

Components
Part name Pcs Material Color / Finish

Product no. / Dimensions
Product no. W D a b Suitable box Screw Weight (g)

 99

 SERIES WOODEN MOUNTING PLATE

Accessories (Optional parts)



256

Product no. / Dimensions
Product no. Material Finish Pack of

Suitable Box

Components
Part name Pcs Material Finish

Product no. / Dimensions
Product no. Suitable box Screw

7.5

15

5.5

5

43

7.5

5
10

8.
5

20

8

2
21

2

4.
5

11
9

41

1218

6.5

20
2

19

99

2

5

20

5

10.5

27

56

23

13
.3

7.
5

15
4

11
6

6

19.5

7.512

33
23

9.5

6

25

5.5

14.5

42
.5

27

22
.8

11

77

20
.8

4

15
.8

6.
5

7.
5

23

8.514.5

50
27

10.5

Components
Part name Pcs Material / Finish

Product no. / Dimensions
Product no. Suitable box Screw

※

Color Type

S

 SERIES PLASTIC MOUNTING BRACKET

CK SERIES STAINLESS STEEL MOUNTING BRACKET

 SERIES PCB MOUNTING SCREW

Accessories (Optional parts)



257

SSK-280 ~ 350

2-hole

9.
5

22

19

10
31

.5

2
2.

5

130

W
a
b

60

R
30

SSK-400

2-hole

2.
5

2.
5

200

60

374

17
.5 39

.5

354.5
305.5

R
30

2-M6

35

15
32

16
.2

SSK-P120

20

1.
2

3

28

5.
5

2-5.5 x 14.5 hole

120
106.5
88.5

SSK-160 ~ 250

2-hole

20

W

2.
5

29
.5

a
b

60

R
30

26

10
10

17 10
.5

20

32.25

18.25 14
SSK-S1

1.5

3 x 13 hole

16
.2

20

W
a
b

2-hole

1.
2

3

28

5.
5

2-R2.75

SSK SERIES POLE MOUNTING BRACKET

1

21

21 1

1

1

WEATHER STATION DATA LOGGER

APPLICATION EXAMPLE

WATER LEVEL DETECTOR
Product by Aspect System (Japan)

Accessories (Optional parts)

SSK dimensions



258

Components
No. Part name Pcs Material Color / Finish

1

2

SSK-630

590
562
200
130

32

15

17
.5

39
.5

35

2.
5

2.
5 2-M6

60

R
30

7

2-7×9 hole

484

SSK-530
7

130
200 17

.5
39

.5

35

15
32

2-M6
2.

5
2.

5

462
380

60

R
30

4-7×9 hole

1

1

Product no. / Dimensions
Product no. W a b c Box size Belt to use with Pack of

PKB SERIES POLE MOUNTING BELT

(49.5)

(1
6.5

)

(49.5)

(2
7.

4)

11

40

Stopper

23

1500

Plastic belt Stopper Stainless steel belt Stopper Stainless steel belt

0.
5

10

1500

0.
3

10

50 50

1500

0.
3

20

50

12

12

Components
Part name Pcs Material Color / Finish

Product no. / Dimensions
Product no. Tensile strength (horizontal) Belt material Belt length Weight (g) Pack of

Accessories (Optional parts)



259

STAINLESS STEEL PROTECTIVE VENT

Technical Data
Airflow

Recommended Torque

Certifications

Product no. / Dimensions
Product no. Material G Nut

SW● Metalic 1 Housing 2 Filter 3 O-ring 4 Nut Thread size Mount hole

PMF-12M dimensions Installation drawings

20 16

M
12

 ×
 1

.5

14.15
3

8.5

1

2

3 4

Housing

Filter

O-ring Nut

14
.3

60°

10
.5

M
12

 ×
 1

.5

Outside Inside

Material thickness

If used with a lock nut, material thickness should not exceed 4.0mm.

Please make a thread-hole for 
installation if material thickness 
is more than 4.0mm.

While 12.2mm through-hole is sufficient for 
installation, 60° angle tapered hole is recommended 
to prevent deformation of the O-ring.

For use without nut

Hole milling drawings

Accessories (Optional Parts)



260

Technical Data
Product no. PMF-6B PMF-12 PMF-12HA

 SERIES PROTECTIVE VENT

Product no. / Dimensions
Product no. Material G

Nut SW
● Light gray ● Black 1 Housing 2 Filter 3 O-ring 4 Lock nut Thread size Mount hole

NEW

Outside Inside

Material thickness

If used with a lock nut,
material thickness should not exceed 4.0mm,

for installation if material
thickness is more than 4.0mm.G

1 2 3 4

   

0°

PMF dimensions Hole milling drawings Installation drawings

Accessories (Optional Parts)



261

Product no. / Dimensions

Product no.
Material G Nut

SW1 Housing 2 Filter 3 O-ring 4 Lock nut Thread size Mount hole

Technical Data
Airflow

Recommended torque

Certifications
(without nut)

PMF-32 Dimensions

9.7

8

75 46G

22.7

O-ring 

Housing1

Filter
2

3

Lock nut4

Installation drawingsHole milling drawings

33

Outside

material thickness

Inside

 SERIES LARGE PROTECTIVE VENT

Accessories (Optional parts)



262

25

28 18
.5

2

1.5

912 2.8

26

21.5 1.5

28

50

21
1068

28 3- 4.2
29

Mounting surface

O-ring O-ring, M4 tapping screw

36

Nut

Product no.
Product no. Material / Color

Product no. / Dimensions
Product no. Material Color Installation hole W H D a b c e

W
H

D

3

11

O-ring Nut

a

b c

8

4-e

Mounting surface

V SERIES VENTILATION LOUVER

VF SERIES VENTILATION PARTS

2

3

19

Technical Data

Accessories (Optional parts)



265

 SERIES WEATHERPROOF CABLE GLAND

Components
No. Part name Material

1

2

3

4

5 Nut

SW

A

HL

G

 

Product no. / Dimensions
Product no. G Cable range

L H
Max SW A Pack of

 Black  Light gray Thread size Mounting hole Min Max

 9

 9

 9

 9

Technical Data

1 2 3

4 5

RMW dimensions



266

RMW series silicone sealing insert weatherproof test report

Testing conditions
Equipment :
Conditions :

Time period :
Total radiant exposure :

Test result (visual / touch inspection)
Silicone sealing insert material : 

NBR material from our RM series :

EPDM material from weatherproof cable gland of another manufacturer : 



267

Components
No. Part name Material

1

2

3

4

5

SW

A

HL

G

Product no. / Dimensions
Product no. G Cable range

L H
Max SW A Pack of

 Black  Light gray Thread size Mounting hole Min Max

  

 9

 9

 9

 9

1 2 3

4 5

 SERIES POLYAMIDE CABLE GLAND

RM dimensions
Technical Data



268

HL

G

m

d

SW

A

HL

G

SW

A

AGSP dimensions

Components
No. Part name Material

1

-

2

3

Product no. / Dimensions
Product no. G Cable range

L H
Max SW A d m Pack of

 Black  Light gray Thread size Mounting hole Min Max

Technical Data

RSP dimensions

Technical Data

Components
No. Part name Material

1

-

2

3

4

Product no. / Dimensions
Product no. G Cable range

L H
Max SW A Pack of

 Black  Light gray Thread size Mounting hole Min Max

 9

 9

3 2 1

3 2 14

AGSP SERIES STRAIN RELIEF CABLE GLAND

RSP SERIES STRAIN RELIEF CABLE GLAND



269

AG Series Lamellar insert type

Components
No. Part name Material

1

2

3

4

1 2 3 4

AG SERIES HIGH WATER PROTECTION CABLE GLAND

Technical Data



270

SW

A

HL

Gd

m

Product no. / Dimensions
Product no. G Cable range

L H
Max SW A d m Pack of

 Black  Light gray Thread size Mounting hole Min Max

  

9

9

AG dimensions


